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H#2      b) see text          5+9 

Set play: 1...Ra1‐d1! 2.Rc3‐c4 Rd1*d3 # 

Solution: 1.Rc3‐c4 0‐0‐0! 2.Ke3‐d4 Rd1*d3 # 

b) Bf4>a4 after the first move of black(1.Rc3‐c4): 

 

Set play: 1…0‐0‐0! 2.Ke3‐d4 Rd1*d3 # 

Although black have one waiting move( 1.a4‐a3), previous move of 

white must have been done with king or rook( in previous position 

white had one more move – a4‐a5). So, 1.a4‐a3 does not have any 

sense, because 0‐0‐0 is illegal. Solution: 1.Re4‐f4 Ra1‐d1! 2.Rc4‐e4 

Rd1*d3 # 


